>

00 A
1T B

- 4870
N9

00 =

B . 02-381-3911

o —
[ 58 ACIRE )
Mon Tue Wed Thu Fri
5/2(M2 =310 &) 3 4 5 6
Jlé+a|+ o | J =N mJ1|E|(1.2.5.6.12.1
A1I101%=(5.6. 16. ADRIE=(1.5.6.10.13.16.) | 3:16.
CECISELISRE!(5.6.13.) CLEC')(E) :ﬁs 5.) ) IIZ(2012E2 )(5.6.13.)
=H82H((1.2.5.6.10. 13) 2o HOI=A4H=(1.5.13.) _
HiZ=21%1(9. 13.) FABIUFS(1.5.6.13.) | 2=5)(9.13.) olglolg JURS £ 3=p=
SRIEAH2EAAA(5.6.13.) |=2121%((9.13.) bst(1.2.5.6.13.)
JSHIBTI 208 |z SI=BUL2R(2))
%6.2/24.7/76.7/2.8 528.6/29.1/118.8/5.4 812.5/24.6/241.8/2.7
9 10 1 (& glE ) 12 13
ENENE: FEEEICH) WIIASI BSE(2. | AERY EPSPNETRT
NE®ER(5.6.9.13.1 | crppoarHe (13 5 6 9.13.16.18.) H2EH(16.) NBSHIZ2(56.16
7.18.) omfmlm —):lxa(l( 6) 5 | DISITRHS=R(56.13) | G2l 0p)] 8IS 2101(2 P w;m'( (6'3' 6'§
A A701(5.6.10.13.) A 1 S DD|FACIOH1.2.5. | 5.6.13.) SHH01(5.6.13.16.
i =21%1(9.13.) SR S(5.6.13.) |[6.10.12.13.16.) NERE X Z &t Chel 2Bt (2.
SIHAIZEZT0|(5.6.13.) | 2¥221%](9.13.) LP‘#?:'il(Q'.EBE.) A8R1(9.13.) 5.6.12.13.)
MEKF =
#82(5.6.13.) 633.7/39.4/133.8/3.1 | (0 (o 24 B =2 X1(9.13.)
ZCIHOI0HE ZEoH) (2. 466.6/22.1/83.9/3. 1
450/24.9/150.4/3.6 516/19.4/254.1/2.9 552.4/31.2/195.6/2.7
16 17 18 (XE giE ) 19 20
EEET el HEERES 0= (5.6 | 2E J EEEED
OAO=dES=(5.6. 4SF2(15.69.13) B 5 g gy | SMBT(6.69.10.18) | EFRUEN15.69.13.)
NFOHOEDE (5.6 Flses 6) HIAEH(5.6.8.13.16.) | MSZXIH(5.6.9.10.13.)
13.17.) ( ga|§13|(5.6.13.) %%@l;lﬁ)ﬁ%l(aa HIGILIAAI KRS (2.5, | =2t M37H(5.6.13.)
HAZHLEF01(5.6. | =2r2x .13.15. 6.10.12.13. MMHENGEI2
10.12.13.) %1(9.13.) 821 3] (9.13.) 0.8 X % esEs
520.5/28.4/120.3/2.7 | 565.2/20.9/120.8/3.1 | 5.6.) 29l 552.8/27.6/170.6/3.7
612.5/35.1/139.4/3.2 | 620.3/30.1/123.3/3.1
23 24 5 (& gl= o) 2% 27(ReF glE o)
ERED S0/ WEE(2.5.6.10.13.) | H0I&2E N EEEE ET e
SNEH=(5.16.) oJor2H|EH5.6.8.13.16.) | SR AR E(13.) SOHE(5.6.13.15.) &(5.6.13.16.)
R2EIN(1.2.6.6.18 | coimpzoiomel(r | SAHHSL(1.5.6.10 | FFE(5.6.) HREMWIN(5.9.13.16.)
.15.) = =281 | 12.13.16.18.) 2B ES(2.5.6.10 | 2CH2IF01(2.5.6.12.1
ol EetXIR0l(1.5. | 5.6.13.16.) HD2XI(9.13.) 13.) 3.)
6.13.17.) OHLElRl58HeS(5.9.13.) | EEOLIBFS(1.5.6.10 | BH=2!%I(9.13.) 21701(13.)
B =2 %1(9.13.) £21217((9.13.) 16.) 20030101 A%(1.2.5.6.) | BIZZIXI(9.13.)
Aut SSB ALY 1o, 641.4/22.9/130.8/11.2 | 449.5/21/86.9/2.5 2
601.6/24.5/75.8/2.4 | 539.4/25.9/80/3.8 448.4/28.4/229.9/4
30 (T glE o
SEEIY(5.) HNDIIHEFSE(2.5. | ASAY 2| R AIE0] S0RUE SAHN HEZ ZA| SIJASLICH
LIJIARD| &2 (2.5.6.9. | 6.10.12.13.16.18.) ] B i ”
10.13.16.17.18.) OlaEl&=2(5.6.13.) o A30 S& S4a2 20l= & = JIEH BDIDX 222 AE0%
2AER2E(5.13.) | HOHASARILIHAES ) i
MZOIHADXED( | AA(1.2.5.6.13.15.16.) |2Ld2)| SAE 20l= SME2 SAIA| 26 FE RESZ|H,
5.6.10.13.) 2<7](9.13.) CroU AT oo N
B =2 %1 (9.13.) Z219IT0/(1.2.5.6. 13 ) |SSEEENE SAFADI iELIC
480.5/29.4/84.4/3.1 | 621.9/27.4/156/2. v AICHS SFDAREITE AR 2200 T2 B2 2 & USLICH
PRAAMTIEAZ2W0HA AI2ols A2 2AXI0 28 LH2ALICH (Y EAIE St WEH 0| Xl &H0l)
Aé}/tél- 2% 258
o | RO ZRIEHE (227 | SRR | S17] | 27| Ly | oz |TEof|BEHEH| 2 B =np| | 255
et :%Tlill_ 1;_7}_%_) 7}-8—%"— /7|._g_g_ /aj-ll._g__aé /7|._g__a§ L:|X| TF=| _71_001 /L)) 7EX| 9—7g01 x7'|| _75_7| EI'Eo"O‘l OHI" ‘I'Jllul %ﬁl‘{lg
x| 3| Ay |G| Au | 3ge | 2ue | 530 2ue | 3y B0 S0 au | S0 530 | 2o | 3 ey | T
T —
*AY )| FLAE HA
1 = 2 = 3 4 = 5 L& 6 & 7 DEN
8 9 M= 10 S XI 02 D| 11 =0t 12 E0IE 13 OtEH 4l 14 S5
15 S 00| 16 2 100| 17 L&A 18 =R (™=, 528 ,2) 19. %

* JI|E|

Ry

HI|TX| g2 AS2=Z Qlet 22I D} Q= S22 XISE SHIOIK FMAEHIRIE  ZL01TAIS.

EEX-E- IR




2=
= ={—]

| et

— =
40| QLI

of
f

| 83Xl

fof

=)
-

=

C—
[

A

L|C} B{24x

t
s

o]

{

| 28% 0

0 EEA2IX
27 %ol
FAHELF

a
1

i

2|

H

JI=HLL0 CHiot

7

p@@
\

X

» €L EY

~ Ok ot
o ﬂ $ _
njo D
L BE ) 4 Gy
ElL &~ == o 3
] R & K2 g
M E2a M5k £ o g <
o 9 Jo &2 0 N
ol o 0 S ‘ N 2 1o o
a1 N == : T (] = ._On_ mr 5
= B T ar JI \ % i B
Tu (A oo, = K @ oo
NS S| & 5 _ 2 5
of| © o s O 8 ol © @ <l o oF Ju
S| ¥ oow = RO Bl = y i 2 = oo
mM JII 4] A_I < o m &1 ﬂ L|.AD ol =
= ol 1 8wy 0O ol T - = =X N LB
G+ B Bl ofs = & i o o @ #or
| Fd m| P M OEEF @ g M © o T o
S| ooy 2 DWAT = o T — g = = B H ©
— B = = E\ o T OR2
o Il = O_E 4 — E:\.__ = _u_._ﬂ_u E] 5 7O = = om 3% N T
= ™ N, = P ==
ol g 5 RO| > 5 ° 5] E O @ Ry = 5| & K K
| = | ML © of =p &1 ol o T oH
2T o 10 I ulo RI Uo - R o o oot
B T N I e | e O T T i 5 & =
J.A% v % T Mwm oo & o N B < T TR T
@ o0 iemyyp ob X Ok o REE B D T o i
= H o = P
b SENEENEENGENENEN \ W-N
N e
-
:
m,.“ 3+
O
oo =
= & ¥
[V
= ol K
ﬂ i o o
3. N K 3
° Rl | =m |2 =0 e
=S IV T C= i T
Wizt He e
jol KOy |=g [Z 0D o
0 ot o | & o g G
= J = (a0 |= rk
gy M [z5uy gz [T <
T o ~N |~ H (@m0 |3 o
o =% = |g<H |ITR [0
Wl_u..MJ Mlﬁ_ uM_ I [ I [ [ I I
K glogp © i T =} =
m2r T o 10 Ok
o0 00 | R |E
=
J ?o Joil R0 <




